NAME:

Study Island
1. Solve the following. 5. Simplify: 7vE4- V24
VED x BV2 = 7 O A 23V8
K0 O B. 8/6
O A. O C.19/8
oB 1 O D. 53/8

o c. VI3
6. Simplify: 5v45 - 5J20

O D. 10
O A 955
O B. 1745
2. Simplify: 6v63- 5v28 OC. 5E
- & D.
O A1LVT R E
O B. 287
O C. 87 7. Simplify: 4V6+ V54
O D. 347 |
O A 4048
O B. 76
3. Solve the following. O C.15VE
V32 x 4V3 = 7 ©D-5v8
~ A 12 .
A 8. Solve the following.
0B.S JED x 33 = 7
~ c 4v34
o C .:_':. A ].D
O D. 32 ~B.6
O C. a0
4. Simplify: 5vE + 2445 _
O D.6V13
O A 50VE
O B.11v5
O C. 7VB

O D.921JE
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9. 12. Simplify.
V203 z V175
The expression above should be further A TVE
simplified for which value of x? O A
O A 217 ~ g 358
O B. 62
':::' C 67 I:':I C. 25"!?
O D.2
o D. 37
10.
8Tz
13.
Which value of x makes the expression above
equivalent to 40v7? V203 T
O A5
. 5. 1600 The expression above should be further simplified
B for which value of x?
O C.25 O A.217
© D. 200 O B. 62
O C. 67
11. Simplify. OD.2
300 14.
O A. 30VI0 8Tz
O B. 100V3 Which value of x makes the expression above
equivalent to 40v7?
o c.10V3 OA.5
 B. 1,600
D 310
- O C.25

 D. 200



